Honors Math 2

The Quadratic Formula
A quadratic equation written in standard form

ax2 + bx + c = 0

can be solved with the quadratic formula:
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Where does this “random” formula come from?????

Solve by completing the square: ax2 + bx + c = 0 

Solve by using the quadratic formula:

1.
x2 – 5x – 14 = 0



2.
5x2 + 4x – 2 = 0
3.
2a2 + 6a + 7 = 0



4.
x2 – 5x = 0
5.
x2 – 16 = 0




6.
x2 – 6x + 9 = 0
7.
4m2 – 5m + 3 = 0



8.
y2 – 14y = 1
PRACTICE PROBLEMS:
1.
3x2 – 2x – 1 = 0



2.
t2 – 4t + 8 = 0

3.
5t2 – 6t = -3
Value of the Discriminant and Nature of the Roots

Discriminant:

b2 – 4ac
	Discriminant Value
	Nature of Roots (Solutions)

	If b2 – 4ac > 0

and a perfect square

Ex.  4; 36; 121; 289
	2 real, rational roots

	If b2 – 4ac > 0

and not a perfect square

Ex. 8; 20; 123; 390
	2 real, irrational roots

	If b2 – 4ac = 0

Ex. 0
	1 real root

	If b2 – 4ac < 0

Ex.  –9; -20; -36; -112
	2 complex (imaginary) roots 

(complex conjugates)


Find the discriminant & describe the roots: 

1.
2y2 – 5y – 3 = 0




2.  
2x2 + 8x – 3 = 0

3.
v2 + 18 = 6v





4.
x2 – 18 = 0

5.
3x2 + 2x = 0





6.
4x2 + 24x + 36 = 0
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